



Neutrosophic ideals of neutrosophic KU-algebras

Bijan Davvaz^{1*}, Samy M. Mostafa² and Fatema F.Kareem³

¹ bdavvaz@yahoo.com, davvaz@yazd.ac.ir - Department of Mathematics, Yazd University, Yazd, Iran

² samymostafa@yahoo.com - Department of Mathematics, Faculty of Education, Ain Shams University, Roxy, Cairo, Egypt

³ fa_sa20072000@yahoo.com - Department of Mathematics, Ibn-Al-Haitham college of Education, University of Baghdad, Iraq

Article Info

Received: 07/09/2016

Accepted: 29/09/2017

Abstract

In this paper, the concept of a neutrosophic KU-algebra is introduced and some related properties are investigated. Also, neutrosophic KU-ideals of a neutrosophic KU-algebra are studied and a few properties are obtained. Furthermore, a few results of neutrosophic KU-ideals of a neutrosophic KU-algebra under homomorphism are discussed

Keywords

KU-algebra

Neutrosophic KU-algebra

Neutrosophic KU-ideal

1. Introduction

Prabpayak and Leerawat [8, 9] introduced a new algebraic structure which is called KU-algebras. They studied ideals and congruences in KU-algebras. Also, they introduced the concept of homomorphism of KU-algebra and investigated some related properties. Moreover, they derived some straightforward consequences of the relations between quotient KU-algebras and isomorphism.

Neutrosophy is a new branch of philosophy that studies the origin, nature and scope of neutralities, as well as their interactions with different ideational spectra. Neutrosophic set and neutrosophic logic were introduced in 1998 by Smarandache as generalizations of fuzzy set and respectively intuitionistic fuzzy logic. In neutrosophic logic, each proposition has a degree of truth (T), a degree of indeterminacy (I) and a degree of falsity (F), where T, I, F are standard or non-standard subsets of $]-0, 1+[$, see [10, 11, 12]. Neutrosophic logic has wide applications in science, engineering, Information Technology, law, politics, economics, finance, econometrics, operations research, optimization theory, game theory and simulation etc.

The notion of neutrosophic algebraic structures was introduced by Kandasamy and Smarandache in 2006, see [5, 6]. Since then, several researchers have studied the concepts and a great deal of literature has been produced. For example, Agboola et al. in [1, 2] continued the study of some types of neutrosophic algebraic structures. Agboola and Davvaz introduced the concept of neutrosophic BCI/BCK-algebras in [3, 4]. In this paper, we introduce a neutrosophic KU-ideal of a neutrosophic KU-algebra and investigated some related properties. Also, we study a neutrosophic homomorphism of a neutrosophic KU-algebra and some results are obtained.

2. Preliminaries

Now, we will recall some known concepts related to KU-algebra from the literature which will be helpful in further study of this article.

Definition 2.1 [8, 9]. Let X be a set with a binary operation $*$ and a constant 0. Then $(X, *, 0)$ is called

*Corresponding author, e-mail: bdavvaz@yahoo.com

KU-algebra if the following axioms hold: for all $x, y, z \in X$,

$$(KU_1) \quad (x * y) * [(y * z) * (x * z)] = 0,$$

$$(KU_2) \quad x * 0 = 0,$$

$$(KU_3) \quad 0 * x = x,$$

$$(KU_4) \quad \text{if } x * y = 0 = y * x \text{ implies } x = y.$$

Define a binary relation \leq by : $x \leq y \Leftrightarrow y * x = 0$, we can prove that (X, \leq) is poset. By the binary relation \leq , we can write the previous axioms in another form as follows:

$$(KU'_1) \quad (y * z) * (x * z) \leq x * y,$$

$$(KU'_2) \quad 0 \leq x,$$

$$(KU'_3) \quad x \leq y \Leftrightarrow y * x = 0,$$

$$(KU'_4) \quad \text{if } x \leq y \text{ and } y \leq x \rightarrow x = y.$$

Example 2.2 [7]. Let $X = \{0, 1, 2, 3, 4\}$ be a set with a binary operation $*$ defined by the following table.

Using the algorithms in Appendix, we can prove that $(X, *, 0)$ is a KU-algebra.

Corollary

are true,

(i)

(iii) If

(v)

(vi) $y * [(y * x) * x] = 0$.

*	0	1	2	3	4
0	0	1	2	3	4
1	0	0	2	3	4
2	0	1	0	3	3
3	0	0	2	0	2
4	0	0	0	0	0

2.3 [7]. In a KU-algebra the following identities

for all, $x, y, z \in X$,

$z * z = 0,$

(ii) $z * (x * z) = 0,$

$x \leq y$ implies that $y * z \leq x * z,$

$z * (y * x) = y * (z * x),$

Definition 2.4 [9]. A subset S of a KU-algebra X is called a sub algebra of X if $x * y \in S$, whenever $x, y \in S$.

Definition 2.5 [9]. A non empty subset A of a KU-algebra X is called an ideal of X if it is satisfied the following conditions.

(i) $0 \in A,$

(ii) $y * z \in A, y \in A$ implies $z \in A, \forall y, z \in X$.

Definition 2.6 [13]. Let A be a non empty subset of a KU-algebra X . Then, A is said to be a KU-ideal of X if the following conditions hold:

(I₁) $0 \in A,$

(I₂) $\forall x, y, z \in X, x * (y * z) \in A$ and $y \in A$ imply $x * z \in A$.

Example 2.7[13]. Let $X = \{0, a, b, c, d, e\}$ be a set with the operation $*$ defined by the following table.

*	0	a	b	c	d	e
0	0	a	b	c	d	e
a	0	0	b	b	d	e
b	0	0	0	a	d	e
c	0	0	0	0	d	e
d	0	0	0	a	0	e
e	0	0	0	0	0	0

Then $(X, *, 0)$ is a KU-algebra and it is easy to show that $\{0, a\}, \{0, a, b, c, d\}$ are KU-ideals of X .

Definition 2.8. Let $(X, *, 0)$ be a KU-algebra, then for every $x, y \in X$ we denote $x \wedge y = (x * y) * y$.

3. Neutrosophic KU-algebra

Let X be a nonempty set and let I be an indeterminate. The set $X(I) = \langle X, I \rangle = \{(x, yI) : x, y \in X\}$ is called a neutrosophic set generated by X and I . $+$ and \cdot are ordinary addition and multiplication, then I has the following properties:

- (1) $I + I + \dots + I = nI$,
- (2) $I + (-I) = 0$,
- (3) $I \cdot I \cdot \dots \cdot I = I^n = I$ for all positive integer n ,
- (4) $0 \cdot I = 0$,
- (5) $-I$ is undefined and therefore does not exist.

If $*$: $X(I) \times X(I) \rightarrow X(I)$ is a binary operation defined on $X(I)$, then the couple $(X(I), *)$ is called a neutrosophic algebraic structure and it is named according the axioms satisfied by $*$. Let $(X(I), *)$ and $(Y(I), *')$ be two neutrosophic algebraic structures, then a mapping $Q: (X(I), *) \rightarrow (Y(I), *')$ is called a neutrosophic homomorphism if the following conditions hold.

- (1) $Q\{(w, xI) * (y, zI)\} = Q(w, xI) *' Q(y, zI)$,
- (2) $Q(I) = I \quad \forall (w, xI), (y, zI) \in X(I)$.

Definition3.1. Let $(X, *, 0)$ be any KU-algebra and $X(I) = \langle X, I \rangle$ be a set generated by X and I .

The triple $(X(I), *, (0,0))$ is called a neutrosophic KU-algebra, if (a, bI) and (c, dI) are any two elements of $X(I)$ with $a, b, c, d \in X$, we define the following

$$(a, bI) * (c, dI) = (a * c, (a * d \wedge b * c \wedge b * d)I).....(1)$$

An element $x \in X$ is represented by $(x, 0) \in X(I)$ and $(0, 0)$ represents the constant element in $X(I)$.

For all $(x, 0), (y, 0) \in X$, we define

$$(x, 0) * (y, 0) = (x * y, 0) = (y \wedge \neg x).....(2)$$

where $\neg x$ is the negation of x in X .

Theorem3.2. Every neutrosophic KU-algebra $(X(I), *, (0,0))$ with condition

$((0,0I) * (a,bI) = (a, (a \wedge b)I)$ is a KU-algebra.

Proof . Suppose that $(X(I), *, (0,0))$ is neutrosophic KU-algebra. Let

$x = (a, bI)$, $y = (c, dI)$, $z = (f, gI)$ be an arbitrary elements of $X(I)$. Then we have

$$\begin{aligned} & (KU_1) \quad (x * y) * [(y * z) * (x * z)] \\ &= [(a, bI) * (c, dI)] * [((c, dI) * (f, gI)) * ((a, bI) * (f, gI))] = \\ &= [(a * c, (a * d \wedge b * c \wedge b * d)I)] * \{[(c * f, (c * g \wedge d * f \wedge d * g)I) * \\ & ((a * f), (a * g \wedge b * f \wedge b * g))]\} \\ &= (r, sI) * [(p, qI) * (u, vI)], \\ & (r, sI) = (a * c, (a * d \wedge b * c \wedge b * d)I) = (c \wedge \neg a, (d \wedge \neg a \wedge c \wedge \neg b \wedge d \wedge \neg b)I), \\ & (p, qI) = (c * f, (c * g \wedge d * f \wedge d * g)I) = (f \wedge \neg c, (g \wedge \neg c \wedge f \wedge \neg d \wedge g \wedge \neg d)I), \\ & (u, vI) = ((a * f), (a * g \wedge b * f \wedge b * g)) = (f \wedge \neg a, (g \wedge \neg a \wedge f \wedge \neg b \wedge g \wedge \neg b)), \end{aligned}$$

Hence,

$$\begin{aligned} & (p, qI) * (u, vI) = (p * u, (p * v \wedge q * u \wedge q * v)I) \\ &= (u \wedge \neg p, (v \wedge \neg p \wedge u \wedge \neg q \wedge v \wedge \neg q)I) = (m, kI), \\ & (r, sI) * (m, kI) = (r * m, (r * k \wedge s * m \wedge s * k)I) \\ &= (m \wedge \neg r, (k \wedge \neg r \wedge m \wedge \neg s \wedge k \wedge \neg s)I) = (\Gamma, hI). \end{aligned}$$

Now, we obtain

$$\Gamma = m \wedge \neg r = u \wedge \neg p \wedge \neg r = (f \wedge \neg a)(\neg c \vee a) = 0$$

Also, we have

$$\begin{aligned} h &= (k \wedge \neg r \wedge m \wedge \neg s \wedge k \wedge \neg s) = k \wedge \neg r \wedge u \wedge \neg p \wedge \neg s \wedge k \wedge \neg s \\ &= v \wedge \neg p \wedge \neg q \wedge u \wedge \neg r \wedge \neg s = \overbrace{g \wedge \neg a \wedge f \wedge \neg b \wedge g \wedge \neg b}^v \wedge \overbrace{(\neg f \vee c)}^{\neg p} \wedge \\ & \overbrace{(\neg g \vee c \vee \neg f \vee d \vee \neg g \vee d)}^{\neg q} \wedge \overbrace{(f \wedge \neg a)}^u \wedge \overbrace{(\neg c \vee a)}^{\neg r} \wedge \overbrace{(\neg d \vee a \vee \neg c \vee b \vee \neg d \vee b)}^{\neg s} = 0 \end{aligned}$$

This shows that $(\Gamma, hI) = (0,0I)$ and consequently $(x * y) * [(y * z) * (x * z)] = 0$.

(2) We have

$$x * 0 = (a, bI) * (0,0I) = (a * 0, (a * 0 \wedge b * 0)I) = (0, (0 \wedge 0)I) = (0,0I).$$

(3) We have

$$0 * x = ((0,0I) * (a,bI) = (0 * a, (0 * b \wedge 0 * a)I) = (a, (b \wedge a)I) = (a, bI).$$

(4) If $x * y = 0 = y * x$, then we have

$$(a, bI) * (c, dI) = (a * c, (a * d \wedge b * c \wedge b * d)I) = (0,0I),$$

$$(c, dI) * (a, bI) = (c * a, (c * b \wedge d * a \wedge d * b)I) = (0,0I).$$

These imply that

$$(a * c, (a * d \wedge b * c \wedge b * d)I) = (0,0I)$$

$$(c \wedge \neg a, (d \wedge \neg a \wedge c \wedge \neg b \wedge d \wedge \neg b)) = (0,0I) \text{ and}$$

$$(a \wedge \neg c, (b \wedge \neg c \wedge a \wedge \neg d \wedge b \wedge \neg d)) = (0,0I).$$

Therefore,

$$c \wedge \neg a = 0, (d \wedge \neg a \wedge c \wedge \neg b \wedge d \wedge \neg b) = 0 \text{ and}$$

$$a \wedge \neg c = 0, (b \wedge \neg c \wedge a \wedge \neg d \wedge b \wedge \neg d) = 0$$

From which we obtain $a = c$, $b = d$. Hence, $(a, bI) = (c, dI)$ that is $x = y$.

From (1) – (4), we have $(X(I), *, (0,0))$ is a KU-algebra.

Lemma3.3. Let $(X(I), *, (0,0))$ be a neutrosophic KU-algebra. Then

$$(0,0I) * (a, bI) = (a, bI) \Leftrightarrow a = b.$$

Proof. Suppose that $(0,0I) * (a, bI) = (a, bI)$. Then $(0,0I) * (a, bI) = (0 * a, (0 * a \wedge 0 * b)I) = (a, bI)$ which implies $(a, (a \wedge b)I) = (a, bI)$ from which we obtain $a = b$. The converse is obvious.

Lemma3.4. Let $(X(I), *, (0,0))$ be a neutrosophic KU-algebra. Then for all $(a, bI), (c, dI), (e, fI) \in X(I)$:

- (1) If $(a, bI) * (c, dI) = (0,0)$ implies that $[(e, fI) * (a, bI)] * [(e, fI) * (c, dI)] = (0,0)$ and $[(c, dI) * (e, fI)] * [(a, bI) * (e, fI)] = (0,0)$.
- (2) $(a, bI) * [(c, dI) * (e, fI)] = (c, dI) * [(a, bI) * (e, fI)]$.
- (3) $[(a, bI) * (c, dI)] * \{[(e, fI) * (a, bI)] * [(e, fI) * (c, dI)]\} = (0,0)$.

Proof . (1) Suppose that $(a, bI) * (c, dI) = (0,0)$. Then $(a * c, (a * d \wedge b * c \wedge b * d)) = (0,0)$ from which we have that $c \wedge \neg a = 0$, $(d \wedge \neg a \wedge c \wedge \neg b \wedge d \wedge \neg b) = 0$. Now,

$$(e, fI) * (a, bI) = (a \wedge \neg e, (b \wedge \neg e \wedge a \wedge \neg f)I) = (x, yI)$$

and

$$(e, fI) * (c, dI) = (c \wedge \neg e, (d \wedge \neg e \wedge c \wedge \neg f)I) = (p, qI).$$

Hence, $(x, yI) * (p, qI) = (p \wedge \neg x, (q \wedge \neg x \wedge p \wedge \neg y)I) = (u, vI)$, where
 $u = p \wedge \neg x = c \wedge \neg e \wedge \neg x = c \wedge \neg e \wedge (\neg a \vee e) = c \wedge \neg e \wedge \neg a = 0$ and
 $v = q \wedge \neg x \wedge p \wedge \neg y = (d \wedge \neg e \wedge c \wedge \neg f) \wedge (\neg a \vee e) \wedge (c \wedge \neg e) \wedge (\neg b \vee e \vee \neg a \vee f)$
 $= (d \wedge \neg e \wedge c \wedge \neg f \wedge \neg a) \wedge (\neg b \vee e \vee \neg a \vee f) = 0$

This show that $(u, vI) = (0,0)$ and so $[(e, fI) * (a, bI)] * [(e, fI) * (c, dI)] = (0,0)$.

A similar computation show that $[(c, dI) * (e, fI)] * [(a, bI) * (e, fI)] = (0,0)$.

(2) LHS $(a, bI) * [(c, dI) * (e, fI)] = (a, bI) * (n, mI)$, where $n = e \wedge \neg c, m = f \wedge \neg c \wedge e \wedge \neg d$,

$$\begin{aligned} x * (y * z) &= (a, bI) * [(c, dI) * (e, fI)] \\ &= (a, bI) * (n, mI) \\ &= (n \wedge \neg a, (m \wedge \neg a \wedge n \wedge \neg b)I) \\ &= [e \wedge \neg c \wedge \neg a, (f \wedge \neg c \wedge e \wedge \neg d \wedge \neg a \wedge e \wedge \neg c \wedge \neg b)I] \\ &= [e \wedge \neg c \wedge \neg a, (f \wedge \neg c \wedge e \wedge \neg d \wedge \neg a \wedge \neg b)I] \dots \dots \dots (i) \end{aligned}$$

RHS

$(c, dI) * [(a, bI) * (e, fI)] = (c, dI) * (u, vI)$, where $u = e \wedge \neg a, v = f \wedge \neg a \wedge e \wedge \neg b$. Hence

$$\begin{aligned} (c, dI) * (u, vI) &= (u \wedge \neg c, (v \wedge \neg c \wedge u \wedge \neg d)I) \\ &= (e \wedge \neg a \wedge \neg c, f \wedge \neg a \wedge e \wedge \neg b \wedge \neg c \wedge e \wedge \neg a \wedge \neg d)I \\ &= (e \wedge \neg a \wedge \neg c, f \wedge \neg a \wedge e \wedge \neg b \wedge \neg c \wedge \neg d)I \dots \dots \dots (ii) \end{aligned}$$

From (i) and (ii), we get $(a, bI) * [(c, dI) * (e, fI)] = (c, dI) * [(a, bI) * (e, fI)]$.

(3) Put

$$\begin{aligned} [(a, bI) * (c, dI)] * \{[(e, fI) * (a, bI)] * [(e, fI) * (c, dI)]\} &= (u, vI) * \{(x, yI) * (p, qI)\}, \text{ where} \\ (u, vI) &= (a, bI) * (c, dI) = (c \wedge \neg a, (d \wedge \neg a \wedge c \wedge \neg b)I), \\ (x, yI) &= (e, fI) * (a, bI) = (a \wedge \neg e, (b \wedge \neg e \wedge a \wedge \neg f)I), \\ (p, qI) &= (e, fI) * (c, dI) = (c \wedge \neg e, (d \wedge \neg e \wedge c \wedge \neg f)I). \end{aligned}$$

Thus, we have that

$$\begin{aligned}(x, yI) * (p, qI) &= (p \wedge \neg x, (q \wedge \neg x \wedge p \wedge \neg y)I) \\ &= (g, hI).\end{aligned}$$

Now,

$$\begin{aligned}(u, vI) * (g, hI) &= (g \wedge \neg u, (h \wedge \neg u \wedge g \wedge \neg v)I) \\ &= (m, kI),\end{aligned}$$

where,

$$m = g \wedge \neg u$$

$$= p \wedge \neg x \wedge (\neg c \vee a)$$

$$= (c \wedge \neg e) \wedge (\neg a \vee e) \wedge (\neg c \vee a)$$

$$= (c \wedge \neg e \wedge \neg a \wedge \neg c) \vee (c \wedge \neg e \wedge \neg a \wedge a)$$

$$= (0 \vee 0) = 0,$$

$$k = h \wedge \neg u \wedge g \wedge \neg v$$

$$= (q \wedge \neg x \wedge p \wedge \neg y) \wedge (\neg c \vee a) \wedge (p \wedge \neg x) \wedge (\neg d \vee a \vee \neg c \vee b)$$

$$= (q \wedge \neg x \wedge p \wedge \neg y) \wedge (\neg d \vee a \vee \neg c \vee b)$$

$$= [(d \wedge \neg e \wedge c \wedge \neg f) \wedge (\neg a \vee e) \wedge (c \wedge \neg e) \wedge (\neg b \vee e \vee \neg a \vee f)] \wedge (\neg d \vee a \vee \neg c \vee b)$$

$$= [(d \wedge \neg e \wedge c \wedge \neg f \wedge \neg b) \vee (d \wedge \neg e \wedge c \wedge \neg f \wedge \neg a)] \wedge (\neg d \vee a \vee \neg c \vee b) = 0.$$

It follows that $(m, kI) = (0, 0)$. Hence the proof is complete.

Definition 3.5. Let $(X(I), *, (0, 0))$ be a neutrosophic KU-algebra. A non-empty subset $A(I)$ is called neutrosophic subalgebra of $X(I)$ if the following conditions hold:

- (i) $(0, 0) \in A(I)$,
- (ii) $(a, bI) * (c, dI) \in A(I)$ for all $(a, bI), (c, dI) \in A(I)$,
- (iii) $A(I)$ contains a proper subset which is a KU-algebra.

If $A(I)$ does not contain a proper subset which is a KU-algebra, then $A(I)$ is called a pseudo neutrosophic subalgebra of $X(I)$.

Theorem 3.6. Let $(X(I), *, (0, 0))$ be a neutrosophic KU-algebra and $A_{(a, aI)}(I)$ be a subset of $X(I)$ defined by $A_{(a, aI)}(I) = \{(x, yI) \in X(I) : (a, aI) * (x, yI) = (0, 0)\}$, for $a \neq 0$. Then,

- (1) $A_{(a, aI)}(I)$ is a neutrosophic subalgebra of $X(I)$,
- (2) $A_{(a, aI)}(I) \subseteq A_{(0, 0I)}(I)$.

Proof. (1) Obviously, $(0, 0) \in A_{(a, aI)}(I)$ and $A_{(a, aI)}(I)$ contain a proper subset which is a KU-algebra.

Let $(x, yI), (p, qI) \in A_{(a, aI)}(I)$. Then $(a, aI) * (x, yI) = (0, 0)$ and $(a, aI) * (p, qI) = (0, 0)$, it follows that $a * x = 0, a * x \wedge a * y = 0, a * p = 0, a * p \wedge a * q = 0$. Since $a \neq 0$, we have $x = y = p = q = a$. Now, we have

$$\begin{aligned}(a, aI) * [(x, yI) * (p, qI)] &= (a, aI) * [(x * p, (x * q \wedge y * p \wedge y * q)I)] \\ &= [a * (x * p), \{[a * (x * q \wedge y * p \wedge y * q)] \wedge a * (x * p)\}I] \\ &= [a * 0, \{a * a \wedge a * 0\}I] = [0, (0 \wedge 0)I] = (0, 0).\end{aligned}$$

This shows that $(x, yI) * (p, qI) \in A_{(a, aI)}(I)$ and the required result follows.

- (2) It is clear.

Theorem 3.7. Let $(X(I), *, (0, 0))$ be a neutrosophic KU-algebra and $X_T(I)$ be a subset of $X(I)$

defined by $X_T(I) = \{(x, xI); x \in X\}$. Then $X_T(I)$ is a neutrosophic subalgebra of $X(I)$.

Proof. Obviously $(0,0) \in X_T(I)$. Let (a, aI) , $(b, bI) \in X_T(I)$. Then, we have

$$(a, aI) * (b, bI) = (a * b, (a * b)I) = (b \wedge \neg a, (b \wedge \neg a)I) \in X_T(I).$$

The proof is complete.

Remark 3.8. Since $(X_T(I), *, (0,0))$ is a neutrosophic subalgebra, then $X_T(I)$ is a neutrosophic commutative KU-algebra in its own right.

Example 3.9. Let $X_T(I) = \{(0,0I), (a, aI), (b, bI), (c, cI)\}$ be a set with the operation $*$ defined by the following table

*	(0,0I)	(a,aI)	(b,bI)	(c,cI)
(0,0I)	(0,0I)	(a,aI)	(b,bI)	(c,cI)
(a,aI)	(0,0I)	(0,0I)	(a,aI)	(c,bI)
(b,bI)	(0,0I)	(0,0I)	(0,0I)	(c,aI)
(c,cI)	(0,0I)	(a,aI)	(b,bI)	(0,0I)

Then $X_T(I)$ is a neutrosophic subalgebra of $X(I)$.

Definition 3.10. Let $(X(I), *, (0,0))$ be a neutrosophic KU-algebra. A non-empty subset $A(I)$ is called a neutrosophic ideal of $X(I)$ if the following conditions hold:

- (i) $(0,0) \in A(I)$,
- (ii) If $(a, bI) * (c, dI) \in A(I)$ and $(a, bI) \in A(I)$ implies $(c, dI) \in A(I)$, for all $(a, bI), (c, dI) \in A(I)$.

Definition 3.11. A non-empty subset $A_T(I)$ is called a neutrosophic KU-ideal of $X_T(I)$ if the following conditions hold:

- (I₁) $(0,0) \in A_T(I)$,
- (I₂) If $(x, xI) * [(y, yI) * (z, zI)] \in A_T(I)$ and $(y, yI) \in A_T(I)$ implies $(x, xI) * (z, zI) \in A_T(I)$, for all $(x, xI), (y, yI), (z, zI) \in A_T(I)$.

Theorem 3.12. Every neutrosophic KU-ideal of $X_T(I)$ is a neutrosophic ideal of $X_T(I)$

Proof. Putting $(x, xI) = (0,0I)$ in (I₂), the result follows.

Definition 3.13. Let $(X(I), *, (0,0))$ and $(X(I), \bullet, (0',0'))$ be two neutrosophic KU-algebras.

A mapping $f : X(I) \rightarrow X'(I)$ is called a neutrosophic homomorphism if the following conditions hold:

- (1) $f[(x, yI) * (z, mI)] = f(x, yI) \bullet f(z, mI), \forall (x, yI), (z, mI) \in X(I)$.
- (2) $f(0,0I) = (0',0'I)$.

Also,

- (3) If f is injective, then f is called a neutrosophic monomorphism.
- (4) If f is surjective, then f is called a neutrosophic epimorphism.
- (5) If f is a bijection, then f is called a neutrosophic isomorphism.

A bijective neutrosophic homomorphism from $X(I)$ onto $X'(I)$ is called a neutrosophic automorphism.

Theorem 3.14. Let $f : X(I) \rightarrow X'(I)$ be a neutrosophic homomorphism of neutrosophic KU-algebras. Then,

- (i) If $(0,0I)$ is the identity in $X(I)$, then $f(0,0I)$ is the identity in $X'(I)$.
- (ii) If S is a neutrosophic subalgebra of $X(I)$, then $f(S)$ is a neutrosophic subalgebra of $X'(I)$.
- (iii) If S is a neutrosophic subalgebra of $X'(I)$, then $f^{-1}(S)$ is a neutrosophic subalgebra of $X(I)$.

Proof. It is straightforward.

Definition 3.15. Let $f : X(I) \rightarrow X'(I)$ be a neutrosophic homomorphism of neutrosophic KU-algebras. Then the kernel of f denoted by $\ker f$, is defined to be the set

$$\ker f = \{(x, yI) \in X(I) : f(x, yI) = (0', 0'I)\}.$$

Theorem 3.16. Let $f : X(I) \rightarrow X'(I)$ be a neutrosophic homomorphism of neutrosophic KU-algebras. Then, f is a neutrosophic monomorphism if and only if $\ker f = \{(0,0)\}$

Proof. It is straightforward.

Theorem 3.17. Let $f : X(I) \rightarrow X'(I)$ be a neutrosophic homomorphism from a neutrosophic KU-algebra $X(I)$ into a neutrosophic KU-algebra $X'(I)$. Then the kernel f is a neutrosophic KU-ideal of $X(I)$.

Proof. Since $f(0,0I) = (0', 0'I)$, then $(0,0I) \in \ker f$. Let

$(a, bI) * [(c, dI) * (p, qI)] \in \ker f$ and $(c, dI) \in \ker f$, then

$f\{(a, bI) * [(c, dI) * (p, qI)]\} = (0', 0'I)$ and $f(c, dI) = (0', 0'I)$, since

$$\begin{aligned} (0', 0'I) &= f\{(a, bI) * [(c, dI) * (p, qI)]\} = f(a, bI) * f[(c, dI) * (p, qI)] \\ &= f(a, bI) * [f(c, dI) * f(p, qI)] \\ &= f(c, dI) * [f(a, bI) * f(p, qI)] \\ &= (0', 0'I) * [f(a, bI) * f(p, qI)] \\ &= [f(a, bI) * f(p, qI)] \\ &= f[(a, bI) * (p, qI)]. \end{aligned}$$

We get $[(a, bI) * (p, qI)] \in \ker f$, so $\ker f$ is neutrosophic KU-ideal of $X(I)$.

4. Appendix-Algorithms

This appendix contains all necessary algorithms

Algorithm for KU-algebras

Input (X : set, $*$: binary operation)

Output (“ X is a KU-algebra or not”)

Begin

If $X = \emptyset$ then go to (1.);

End If

If $0 \notin X$ then go to (1.);

End If


```

Stop: =false;
i := 1;
While  $i \leq |X|$  and not (Stop) do
If  $x_i * x_i \neq 0$  then
Stop: = true;
End If
j := 1
While  $j \leq |X|$  and not (Stop) do
If  $((y_j * x_i) * x_i) \neq 0$  then
Stop: = true;
End If
End If
k := 1
While  $k \leq |X|$  and not (Stop) do
If  $(x_i * y_j) * ((y_j * z_k) * (x_i * z_k)) \neq 0$  then
Stop: = true;
End If
End If While
End If While
End If While
If Stop then
(1.) Output (“ X is not a KU-algebra”)
Else
Output (“ X is a KU-algebra”)
End If
End

```

Conflict of Interests:The authors declare that there is no conflict of interests regarding the publication of this paper.

References

- [1] Agboola, A.A.A., Akinola, A.D., Oyebola, O.Y., “Neutrosophic rings I”, International J. Math. Combin., 4: 1-14, (2011).
- [2] Agboola, A.A.A., Akwu, A.O., Oyebo, Y.T., “Neutrosophic groups and neutrosophic subgroups”, Int. J. of Math. Comb., 3: 1-9, (2012).
- [3] Agboola, A.A.A., Davvaz, B., “Introduction to neutrosophic BCI/BCK-algebras”, Int. J. Math. Math.

- Sci., Article ID 370267, (2015).
- [4] Agboola, A.A.A., Davvaz, B., "On neutrosophic ideals of neutrosophic BCI-algebras", *Critical Review*. 10: 93-103, (2015).
- [5] Kandasamy, W.B.V., Smarandache, F., "Some neutrosophic algebraic structures and neutrosophic N-algebraic structures", *Hexis*, Phoenix, Arizona, USA, (2006).
- [6] Kandasamy, W.B.V., Smarandache, F., "Neutrosophic rings, hexis", Phoenix, Arizona, USA, 2006.
- [7] Mostafa, S.M., Abd-Elnaby, M.A., Yousef, M.M.M., "Fuzzy ideals of KU-algebras", *Int. Math. Forum*, 6(63): 3139-3149, (2011).
- [8] Prabpayak, C., Leerawat, U., "On ideals and congruence in KU-algebras", *Scientia Magna Journal*, 1(5): 54-57, (2009).
- [9] Prabpayak, C., Leerawat, U., "On isomorphisms of KU-algebras", *Scientiamagna Journal*, 3(5): 25-31, (2009).
- [10] Smarandache, F., "Neutrosophy / Neutrosophic Probability", *Set and Logic*, American Research Press, Rehoboth, Mass, USA, (1998).
- [11] Smarandache, F., "Neutrosophic set- a generalization of the intuitionistic fuzzy sets", *Int. J. Pure Appl. Math.*, 24: 287-297, (2005).
- [12] Smarandache, F., "Introduction to Neutrosophic Statistics", *Sitech and Education Publishing*, Craiova, Romania, (2014).
- [13] Yaqoob, N., Mostafa, S.M., Ansari, M.A., "On cubic KU-ideals of KU-algebras", *ISRN Algebra*, Article ID935905, (2013).